de

Government Jammu Kashmir (UT) Office of the Executive Engineer Ja! Shaktl Department PHE Division, Shopian. Email :-xenpheshopian@yahoo.in& xenpheshopain@gmail.com Phone /fax:- 01933- 260248/260284. Allotment Order No O S of 2023 dated 26 PG2023 M/S SAJAD & CO PROP. SAJAD AHMAD BHAT S/O MOHD SHAFI BHAT R/O HERGAM SHOPIAN Regd. No. PWD/CEMRF/03-A/2019-2020 email ID: 01AOLPB2870G1ZE GSTN: 7006190020 PAN AOLPB2870G Advertised Cost ₹ 75,71 lacs Allotment Order No. Laying & Fitting of Delivery and Distribution Mains consisting of GMS Tubes and Ductile Iron Pipes of different Nominal Bores along with pipe of 2023 dated fittings and control valves

Construction of 0.45 lac gallon Ground Service Reservoirs (GSR), & Execution of ancillary civil works like Construction of Sedimentation Tank, protection works, Construction of Chain Link Fencing at Water Supply scheme Trenz Turkwangam of Reference 1 This office E Nit No -49/JSDS of 2022-23 Dt-17 02 2023 (S.No 04) 2 Minutes of meeting DJJM Shopian held on 13.03.2023 3. Accord of Administrative Approval Order No -Se/Hyd/Spn/117 of 01/2020-21 Dt:-27.01.2021 issued by Superintending Engineer Hyd. 4 This office | LO | NO:- JSDS/6192-98 | Dated:-13.03.2023 5 Technical sanction ORDER No. -CE/PHE/DB/605 OF 09/2022 DT:-14.09 2022 issued by Chief Engineer Jal Shakti (PHE) Department For & on behalf of Lt. Governor of J&K, contract for above mentioned job is here by fixed with you on your following quoted rates, Sl.No Description of Work / Item(s) No.of Units Rate Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. Qty Amount (not exceeding 1.5 m in width) and for shafts, well's, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of borroms lift upto 1.5 ra, including getting out excavated earth and disposal of surplus excavated earth as directed:All kinds of soil:1 meter from ₹ 436.00 ₹ 2,12,362.52 Earth work in excavation by mechanical means (hydraulic excavator) in trenches for foundations, 487.07 cum drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a ₹ 252.05 ₹ 2.86,452.30 lead of 50 metres: All kinds of soil Laying in position certrifugally cast (spiin) from S&S or flanged pipes (excluding cost of 1136.49 cum pipe) 150/100mm dia D ! pipe ₹ 245.55 ₹ 1,48,842.59 Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including 606.16 QtI testing of joints and including the cost of rubber gasket. ₹ 0.00 4.1 150 mm dia **1**55 ₹ 144.70 each 100 mm dia ₹ 7,958.50 509 \$89.70 Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth each ₹ 45,657 30 work. ₹ 0.00 5.1 20 mm dia nominal bore 450 ₹ 20.25 mtr ₹9,112.50 5.2 25 mm dia, nominal bore 400 mtr 表30.65 ₹ 12.260.00 40 mm dia. nominal bore 500. ₹ 40.88 ₹ 20,400.00 80 mm dia nominal bore 500 ₹ 36,525.00 Providing of FHTCs to every unconnected household including cost of 15mm to 20mm dia G.I pipe for a length of 6 to 20 mtrs with G.1 fittings /specials incl. laying & fitting of pipes, earth work in excavation and refilling. The job includes providing and fixing of Water Meters, complete ₹ 3,850.00 ₹ 8,31,600.00 216 Manufacturing/ fabrication and fixing of M.S surface box/chambers of size (0.60x0.60x0.75m) made out of 6mm thick MS sheet using 40x40x5mm angle iron for frame including cutting, hoisting and fixing in position incl. all locking arrangements, handles hinges etc and applying priming coat of approved steel primer. The job includes providing and laying of cement concrete ₹ 55,000.00 ₹ 11,000.00 1:2:4 on the base of frame to be embedded in, including all sorts of carriages involved for the completion of the job. The job is to carried out as per the directions of Site-incharge.complete job. Providing and fixing C.1 sluice valves (with cap) complete nuts, rubber insertions etc. (the tail ₹ 0.00 pieces if required will be paid separately). 8.1 ₹ 13,017.00 150 mm dia (Class I) each ₹9,19570 B.2 100 mm dia (Class I)

O

A.					
	Describing and fixing gain moral gate valve with C.I. wheel of approved quality (screwed end) 80 ion nominal box:				*0.00
	Supplying Installation, Commissioning and Testing of From Meters of IST reputed Make (The term includes fabrication of M.S. tell proces, flunger, muts bolts, R.1 cloth etc., cutting of existing term includes fabrication complient as per requirement of site incl cost of RICC protective chamber of suitable site incl cost of M.S. covers, ladders etc. complete sob 80 mm dis.	3	No.	₹ 19,800 00	₹ 59,400 00
	Earth wink in bulk excession by mechanical means (hydraulic excession) over areas (exceeding bloom in dupth, 1.5 m in width is well as 10 m2 on plan) including disposal of excessiod earth had upto 50 means and lift upto 1.5 m, as directed by Engineer-in-Charge All kinds of soil:	163.37	num A	₹ 188.75	₹ 30,836 09
12	Earth work in bulk excavation by manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge All kinds of Sail:	70.01	cum	1539.35	₹ 37,759 89
103	Providing & laying of store soling hard packed in trenches (Nullah)	45.91	cum	616.40	1 39 304 64
19	Prevailing and laying in position comment concrete of specified grade including curing but excluding the case of comming and shuttering. All work upon plinth level with 1.4.8 (1 coment. 4 coarse sand. 8 proded stone aggregate 40 min nominal size.)	51	cum	¥ 4,261.84	₹ 28,298 92 ₹ 2,47,953 59
15	Providing and laying in position specified grade of reinforced coment concrete including ouring but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1.1% 3 (1 centeri	32.45	cum	₹ 7,800.77	₹2,53,134 <i>9</i> 9
19	Reinforced coment concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillers, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but evoluting cost of centering shumering, finishing and reinforcement 1.1% 3 (1 centent 1.1% coarse sand 1.3 graded stone aggregate 20 mm nominal size)	57.83	cum	₹ 9,408 14	₹ 5,44,072 45
v	Reinforced coment concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balcomes, shelves, charjas, linnels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with. 1.1% 3 (1 cement : 1% coarse sand : 3 graded stone aggregate 20 mm norminal size)	8.05	cum	19,849 35	79,287.23
18	Remiorced coment concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upon floor five level level including ouring but excluding the cost of comening, shuttering finishing and reinforcement with: 1:14.3 (1 coment : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	6.91	cum	₹ 10,404.52	₹71,895.20
19	Providing and laying in position cement concrete of specified grade including ouring but excluding the cost of centring and shumering. All work upto plinth level with: 1:3:6 (1 cement : 3 coarse sand 6 graded stone aggregate 20 mm nominal size)	120.75	cum	5,437.74	₹ 6,56,607 11
20	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level: Thermo-Mechanically Treated bars of grade Fe-500D or more.	12053	kg	\$87.18	₹ 10,50,720 28
21	Centering and shuttering including strutting, propping etc. and removal of form for.				
21.1	Foundations, footings, bases of columns etc. for trace concepts	20.11			₹0.00
21.2	Walls (any thickness) including anached pilasters, buttresses, plinth and crains and	20.08 966.47	sqm	₹ 262.30	₹ 5,266 98
21.3	printer oceans, process, pressumers and camplevers.	31.43	sqm	₹ 502.85	₹ 5,54,608 81 ₹ 15,804 58
21,4	Arches, domes, vaults upto 6 m span	69.63	sqm	2,086.80	₹ 1,45,303.88
22	Extra for shumering in circular work (20% of respective centering and Shumering items).		- Ann	1 2,000.00	
22.1	Foundations, footings, bases of columns etc. for mass concrete.	20.00	-	3	₹0.00
22.2	Walls (any thickness) including attached pilasters, buttresses, plinth and string courses etc	20.08	sqm	V252.46	₹ 1,053.40
22.3	Limel, beams, plinth beams, girders, bressumers and cantilevers.	450	sqm	? 1j477	₹ 51,646.50
22,4	Extra for arches, domes, vaults exceeding 6 m span	31.43	sqm	₹ 100.57	₹ 3,160.92
22.5	12mm Cement plaster of mix: 1:4(1 cement: 4 fine sand)	69.63	sqm	1100845	₹ 70,218.37
23	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:4(1 cement: 4 fine sand)	168.77	sqm	260.05	₹ 43,888.64
	Technetic 4 line	925	sqm	₹ 325.45	₹ 3,01,041.25

40,7505/2-1725-29 17,26-06-2023

1,,	Providing and mixing water proofing material in cement concrete work in doses by weight of venent as per manufacturer's specification (1 kg of water proofing material in 50 kg of cement)	452,	kg _	₹ 57.90	₹ 26,170.80
25	Speel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required in graings, frames, guard bar, ladder, railings, brackets, gates and similar works.	3507.07	kg 	₹146.63	₹ 5,14,241.67
26	Synactural steel work in single section, fixed with or without connecting plate, including cutting, hossing, fixing in position and applying a priming coat of approved steel primer all complete.				₹0.00
27	Supply of stones at site (Nallah)	110,63	cum	₹ 440,00	₹ 48,677.20
28	Hand-packing stones in wire-crates; excluding cost of crates and stones	77.44	cum	₹ 337.45	₹ 26,132.13
N 1	Supply of wire crates of approved mesh-size (4"x4") made of 4mm dia wire including weaving, building sides and partitions, and binding top after filling incl all sorts of carriages involved upto the site of work complete.	793.43	sft	₹ 22 00	₹ 17,455.46
30	Providing and fixing G.1. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge. Made of G.1. wire of dia 4 mm	280	sqm	733 50	₹ 2,05,380.0
	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work	392	sqm	₹ 121 95	₹ 47,804.40
32	Filling available excavated earth (excl. rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	1671.2	cum	₹ 198.70	₹ 3,32,067 4
33	Carriage of material from source upto dumping site by mechanical means incl. loading, unloading and stacking complete.	3			₹ 0.00
33.1	150mm dia D.1 pipe 12KM	300	mtr	₹11.12	₹ 3,336.00
312	100mm dia D.1 pipe 15KM	2800	mtr	₹6.67	₹ 18,676.0
33.3	Below 100mm dia G I pipes 17km	14.93	M.T	₹ 325.24	₹ 4,855.8
33.4	cement & steel for an avg. lead of 12kms.	116.07	M.T		₹ 31,483.5
33.5	Sand for an avg lead of 29 kms.	145,9	cum	₹ 491.71	₹71,740.
33.6	Stone aggregates for an avg. lead of 15 kms.	264.2	5 cun	n ₹341.57	
33.7	Stone soling for an avg. lead of 3km	45.91	cur	n ₹203.05	₹9,322.0
34	Extra Carriage of material from dumping site to actual site of work by manual means (Head load) for an avg lead of 300 mtrs.				₹ 0.00
34.1	150mm dia D I pipe	300	m	tr ₹ 10.10	₹ 3,030.
34.2	100mm dia D I pipe	280	0 m		₹ 20,076
34.3	Below 100mm dia G1 pipes	14.9	3 M	T ₹376,0	5 ₹ 5,614.
34.4	cement	104	01 M	T ₹210.7	4 ₹21,919
34.5	steel	12.0	05 M	IT ₹452,6	
34.6	Stone aggregates	264.	25 c	am 3438.4	The same of the sa
34.7	Stone soling	22	08 0	um ₹515.7	5 ₹11,387.

3 of 5

		Total Schedule Value	₹ 75,71,27					
	Add Quoted Accepted percentage	-(Minus) 1 350%	-7 1,02,21					
		Alloted Amount	₹ 74,69,0					
	Tonditions The cost of work should in no case exceed beyond Rs. 74.69 Lacs/= (Rupees seventy four lac sixty r	les the second						
rms &	1116	ine thousand Only)						
	The overall payment under the contract will be restricted to DAP/DPR provision.							
2	Lincovers							
	This letter of allotment & your tender will constitue a legal contract document and the conditions lai	d down in the detailed NIT/Form	1 No 25 de 1					
3	will hold good and binding upon you.							
4	You have to attend the Divisional Circle Office along with your enlistment card for drawl of agreement. However non-drawl of agreement will no prevent the contract from being enforced upon you.							
5	Performance security deposited by you vide Bank Guarantee for an amount of Rs.232000- (Ruper The Anantnag central Co-op. Bank Ltd. B/u Shopian vide Reference No.BGNo.066 Dt:-17.0 deposit shall be released only after successful completion & expiry of DLP of the work.	es two lac thirty two thousand 4,2023 Date of Expiry 16,08,2	Only) throug 025 as secur					
6	The date of start of work shall be reckoned with 15.03.2023.							
7	The work shall have to be completed within a period of one hundred fifty (150) days from the date of issuance of LOI or allotment mentioned above whichever is earlier.							
8	the work be executed strictly in accordance with approved proposals & in close supervision of the Engineer I/C of both wings of Civil as well a dechanical.							
9	After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the bidder will have to operate and maintain the executed work to the full satisfaction of the Department.							
10	The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of Trial run. The bidd shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the firm at the completion of DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectification of the period of the							
11	The bidder shall be responsible for the time and proper setting out of all the works and for the corre alignment of all parts of the works and for the provision of all necessary instruments, appliances and I	ctness of the positions, levels, abour in connection therewith.	dimensions a					
12	The rates are including the Charges for Submission of progress, Geo-tagged photographs, vediograph during & after construction and progress reports in both hard and soft copies. Taking Cross-Sections/execution. Preparation of work abstract of executed work, preparation of bills besides, the rates quote GST/Income tax/Cess etc. shall be deducted at source from running account bills.	I Cassiana L. A I I Free						
13	All the Cement, R.C.C, Steel, plumbing and other works shall be strictly as per relevant IS Codes, normal PWD practices.	If the Cement, R.C.C, Steel, plumbing and other works shall be strictly as per relevant IS Codes, CPHEEO norms/requirements/specifications a						
14	You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at your o costs. The cost of conducting all tests shall be borne by the contractor and shall be deemed to have been included in the item rates for various items work and percentage rate tendered. Nothing extra shall be payable on this account.							
15	You have to furnish the confirmatory survey, structural & functional design including geo-technical tests done at your level duly vetted by DIQC as per terms & conditions of the NIT. The vetting charges	al analysis, soil investigation, and is for the design if any are to be bo	quality cont					
16	The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency shall check the role shall be that of an assistant to the Employer's Representative for the purpose of monitoring and evaluation of the performance of the Contract Period.							

Head Draftsman